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1. « The Red blood cells are produced by the : 1. e TR RN (RBC's) forder g
27

) Liver (B) Hormones
(A) THd (B)

©) atfeermsn /g) wa
/ v
Y

e
y

(C) \ Bone Marrow (D) Heart

2. Age of a candijate to contest Lok Sabha election

should not be légser than : 2. Fﬁﬁi'&@ﬂﬁlﬁ‘ﬂfﬁa@%@mﬁ:ﬁﬁﬂﬂ
feperft @it =fifew 2
{A) 18years (B) 21years \“K/
A) /187 ® 2199
{(C) 2byears )} 30years /’/
’/(6) 25 9 (D) 309

3. The Sargasso sea is situated in the\

/| 8. wromE wrR @ fem § 2

(A) AtlanticOcean (B) Pacific Obea

(A) Feriesh FEEIR (B)  Weid M@

(C) Indian Ocean (D) Arctic %am
//

4, Which country’s hockey team /lés won the 2017

() o< 7@ (D) 3mehfes TR

Sultan Azlan Shah Cup ? T ) gient A9 A Yoo 3T WE F9 2017
/ 4
(A) India AB) New Zealand
// (A) (B) gERTE
(C) Australia / (D) Great Britain
/ (©) D) e fRE (UK
/
/

b. Complete thef/series :
5. frafafas jaen =1 qu

2,4,9, 1% 16 ...
/ 2,4,9,11,16 ...

(A) /"‘21 (B) 19 @) 21

}q{ 18 O 23 © 18
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If in a certain language FLOWER is written as
EKNVDQ, what will be written as GNTRD ?

(B) HOUSE

(€ D) FMSQC

7. If Nitesh says, “PN
daughter of my mothe
Priya ?

a’s mother is the only
{ how is Nitesh related to

(A) Father Grandfather

(C) Brother (D)

8. Write Synonym of ‘BRIEF’ ;

(A) Limited (B) Small ,
(C) Little (D) Short
9. Find the correctly spelt word :
A) Influenza (B)  Influanza
(C) Inffluenza _y *'/(D) Influenga

/
/

10. Find the wor;fwhich best express the opposite
meaning of the word ‘FAMOUS' :

Fd
7

i
(A) Disgraced (B) Unknown

(&Y Ewil (D) Popular

26-Physics

10.

/

/

Ifg fereft wme § FLOWER %1 EKNVDQ mm

¥ @l GNTRD = =1 foran smam ?

7
(A) HEOUS "
©) FMQSC

/
afe e ew & 5. e w1 i W A 9 0
i & S Frin v & w2

@) ® T
(©) . W @) =
‘BRIEF 1 qgigam=i § :

(A) Limited (B) Small
\(C) Little (D) Short

(A) B) Influanza

(C) Inffluenza (D) Influenga

FAMOUS' U &F1 9

gfeu -
(A) Disgraced

(©) Ewvil



11,

12,

13.

14.

15.

The erosion of river banks due to coriolis force
occurs in which of the following directions ?

(A) Clockwise (B) Anticlockwise

(C) Parallel (D) Perpendicular

Moment of Inertia of a Solid Cylinder about its
own axis and the axis perpendicular to it and
passing through its centre of mass are same.
What will be the ratio of radius and length of
Cylinder ?

A 143 ® J3:1

© 1:V2 o J2:1

Mass of a damped oscillator is 1kg and its
damping constant is 280 gm/sec. After how long
ite mechanical energy becomes half of its value ?

(A) 1.3sec (B) o time

(C) b5sec (D) 2.475sec

For rotational motion of a rigid body, the correct
relation is :

(4) L=rxp B T=Fxr
© ¢=?x; (D) All are correct

Periodic time of energy exchange of coupled

oscillator is :

2w 2w
@) (0 +03) ® () ~wg)
1 1
(C) ((02 +(.01) (D) -\{(GZ +(D1
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11.

12

13.

14.

15.

FHIATTE Teil & HRO IR Tl J T4 &6 5 g
iy =1 e FreAfafaa 9 @ fora fam o dm ?

(4) et R (B) g R

(C) T Hid (D) e

Teh 39 SO 1 SEHI WG w4 TaH TS |
THEY ad SEAM g W TR A4 F qu S5d
AT 1 A FEE § 1 Ser F P ta oAt w5
el ie

A 143 B) B:1

© 1.2 O V2:1

e HFHfEa ereh 1 A 1kg T SUHT HTHG
i A =280 gm/sec ¥ | fRa HHa v=Iq e

1 FifstF St 1 T A0 T A ?
(A) 1.3sec (B) < time
(C) b5sec D) 2.475sec

WA @ ieF Mm@ ITTAFTTIE?

(&) L=rxp ®  T-Fxr
© verxw @) uRTIE

oy Aferst 1 el faf-172 % <sh 1 JATedehret fhat
o R

2w 2
(@A) (@ +wy) ®) (@) ~wgz)

1 1
© v @ Jmrer

P.T.O.



16.

17.

18.

19.

20.

Centre of mass of three particles of masses
2, 4 and 6 gms is at the point (2, 2, 2). Where
should a fourth particle of 8 gm be placed so that
the centre of mass is shifted to (0, 0, 0) ?

(A) (©0,0,0) By (-2,-2 -2)

© (-4-4-49 O (=3 -3.-3

When the KE of an object is increased by 300 %
the momentum of the ohject increases by :

(A) 300 % (B) 600 %

(C) 150% D) 100%

A particle is in a conservative force field F. Its
potential energy is U. Which of the following
condition is not always fulfilled ?

A) VxF=0 (B) V-F=0
© $F-dr=0 @ F=-vU

- - -
A vector field A is irrotational if VXA =7

@ -1 B) o

) +1 D) =

Which of the following is correct for a solenoidal

field () 2

- - - -

(A) V-A=0 (B) VxA=0
- = - -

(C) V-Az0 (D) VxA=z0
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16.

17.

18.

19.

20.

2, 49916 TTH o 1 07} o ZemH &g (2, 2, 2) Toig
R U 8 UH THH H Y hel W % 7 Freem

1 A 65 (0, 0, 0) g famg T a1 Y -
(A) (0,0,0 B (-2,-2,-2)
C) (-4,-4,-4 (D) (-8,-3, -3

T a5 i S S 300 % H e MATA R
39& "o ¥ fran wfaera gfg dnft -

(A) 300 % (B) 600%
© 150% (D) 100%

TF V1 Tk G4 5t 85 F B fd S W81 S i
fefm ssim A U ) fefafeg af @ ag=am
Tt € faen 98 e sevas wi R ?

(A) VxF=0 B)

o ufew &3 A ol wikw @ Frelm s R

x_?)xZ EFIT-TH%:
@4 -1 B 0

©C +1 D) o

wRenfosr &7 (7)) i sRm s aad ?

- = - -
(A) V-A=0 B) VxA=0

= — - -
(C) V-A=z0 D) VxA=z0



21,

22,

23.

24,

25.

If electric potential in a region is given by
V= —3x—4y+ 3z then the electric field in that
region will be :

- A ~ A
(A) E=(3i+4j+3k)

(B) E=(—3§_43+3fc)

-

(C) E=zero

-

(D) E=(3/i\+43—32)

A proton is accelerated through a potential
difference V. Its final speed will be proportional
to:

@A) Vv ® YV

© V2 o W

Laplace operator is :

(A) Scalar function (B) Vector function

(C) Tensor (D) Canbe any

For a quadruple the electric potential V varies
with distance as:

1 1

x= Vo—

(&) Ves ® Ve
1

€ Ve D) Veor

r

Adielectric sphere is placed in a uniform electric
field 8 x 105 V/m. If the dielectric constant (g,)
of the material is 7 then, find out electric field
inside the sphere.

(A) 1.6x10°V/m (B) 3.2x103V/m

(C) 266x10°V/im (D) Zero

26-Physics

21.

22,

23.

24.

25.

PR A faga faa HF A V= ~3x— 4y + 32 &
o foea &5 1 O A
(A) E=(3£+4/}+3£)

—

B Bol-3i-4j+sh)

—

(O E =zero

—_

o B=lsirai-sh)

Weh WieM %) V favaiat ¥ «fia forar s § & sur

sifqm an &1 "7A VHHIﬂCIIE‘“ E"’I"TI :

By Vv ® WV

© Vv D) %f
TTd G € :

a) e wem (B) ufEw woH
() T D) FoHHER

T Iy o HRY fave o1 A gft & wry v wfied
T ®

1 1

= Vo—

@A) Ve B) 2
1

© Ve D) Ver

¥

Tk QU T Foreeh TUAEdieh (e ) 1AM 7 8, i
T HAF Tagd 89 8% 103 V/im H W@ S| g1 T

% siey faega &1 @t o R
(A)  1.6x10°V/m (B) 3.2x10%V/m

(¢ 266x10°V/im (D) A

P.T.O.




26.

217.

28.

29.

If the angular momentum due to orbital motion

-
of electron is L , its magnetic moment will be :

m 2m
© == L (D) zero
m

Clausius - Mossotti Relation is :

Na e€,+1 Ney €,-2
() deg €,—2 (B) 3a e .+1

Na _e +2 Na _& -1
© 3eg €1 (D) deg €, +2

Current density and charge density are related
as:

(A) divj+p=0 (B) divj+divp=0

82
divij+—E£=0

.. op
d —=0
(®) v+ 3t D) )

Coherence time for a monochromatic sinusoidal
wave is :

(A) Zero B)

Finite

(C) Infinite (D) None

26-Physics

26.

27.

28.

29,

afz ST = i T S R W @ L

Al Sue g et e dm ?
(A) "29]_4 (B) —EL
m 2m
© oL ® YA
m
Fenfaay S a Fey & :
Na_e+1 Neg ¢ -2
@A) 3ey -2 B o e 41
Na_e+2 Na _e-1
© 360mer—'1 (D) 3eg €,+2
HI e 3R AT T & g Ay §
(A) divj+p=0 ®) divj+divp=0

9
d1v1+-—-7p-=0

1
C divj+-—-=0 D
(© (D) =

ot

fondl weRanita 1 iy a1 § Sagh Hg g §
A I3 B) ufifa

(C) 3Fa (D) I9Ea H g A&



30.

31.

3z.

33.

34.

InMichelson interferometer if mirror is displaced
by a distance of 0.006 mm then at the centre
20 fringes are displaced. What is the wavelength
of light ?

(A) 6,000 A (B) 12,000 A

(C) 3,000 A D) 4,000 A

The formula for area of a half zone plate is :

(A) % (B) wbx
(C) nbA (D)  whn)

Diffraction occurs for :

(A) Mechanical waves only

(B) Electromagnetic waves only
(C) Yor visible light waves only

(D) Forall

The intensity of principal maxima of grating
having N slits is proportional to :

@ X ® N
(C) N2 ™  IN

What is the thickness of a halfowave plate of
quartz for a wavelength of 5000 A (if pg=1.553
and p,=1.544)

{A) 0.056mm (B) 0014mm

(C) 0.028 mm D) 0.07mm

26-Physics

30.

31

32.

33.

34.

MEshend Afartomt ¥ afg gdor %1 0.006 mm
faasm o & O = A 20 RS g@ @ o €

WehT9T 1 aTeed fohaHt a2

(&) 6,000 A (B) 12,000 A
(€) 3,000A (D) 4,000 A
314 3T ST o AFFA YA ¢

(A) % (B) b\

(C) nbx (D) whn\
fomda = e €t B

(A) Fae =ifEF al & ol
(B) wad faqg 70 & fd
(C) Fad v I & fold

(D) off & fou

N ] areft ifén & g 3fams =t derar gergar
&t

@ N B) N
© N2 ® N

5000 A T &% waETe & fo FARES wi AN
afeze Wl R Bl @R = 1.553 a4

ko= 1.544)
(A) 0.056 mm (B) 0.014mm

(C) 0.028 mm (D) 0.07mm

P.T.O.




35.  Angle of rotation for visible light is proportional 85. T YW H i{uhaﬁv; HATATR ¥

to:
A) A B) a2
@ A B) A2 (A) (B)
] © 2 o =
© - (D) 7 A A2

. " A fg orvedf rea sRw
36. Which of the following is a double refractmg 36. = fg e

crystal ?

@A) s (B) Y@
(A) Quartz (B) Topaz

(C) A D) |
(@) Mica D) Al

37. o[ Yo il w1 ddm o dm ¥

37.  Momentum density of electromagnetic wave is :

- -

N N (A) B L-ExB
(A) p=ExH B) p=EX§ p= —ExH p=ExB

© p=e(ﬁ><§) D) P=p

88. U Frer A a w1 writeto = )

88. Standard equation of a 3-Dimensional wave is :

2
19 2,_ 1 0%
@ V=g at;” | W Ve
2, _y23°y B V2¢=V2£‘2
®B) V=V 2 (B) 32
290 © vie-LY
(D) None of the above (D) ST H F FE off 7

26-Physics 10



39.

40.

41,

42.

Intensity of central fringe obtained in
interference pattern of two coherent waves of
same intensity is I;. If one of the source is
covered then intensity at that point becomes 1.
Then :

1
@A) I=ZD ®B) 1=,
Ig

The colours seen in a thin transparent seap film
18 due to following phenomenon :

{A) Dispersion Interference

B)

(C) Scattering (D) Abscrption

Entropy of a system shows :

(A) Volume of a system

(B) Disorder of a system
(C) Pressure of a system
(D) Mass of the particles

B-parameter of two systems are same, it means
that

(A) Their pressure is same

(B) Their volume is same

(C) Their temperature is same
(Dy P,V,Tallsame

26-Physics
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39.

40.

41,

42,

Sfae W § FEE S # daa 1§ sl
QT T Y <Feren wAE off | 9fE T i 6 A feam

W @ % R diga ferat 8 S 2
Ip

@ I=7 ® I=],

C D 1=lo

© =4, @) 1=

T Tael! TSR W o T % e o 1 e
forg W& % RO Bl ¥

(A) fagoo (B) AR
(C) wHIH (D) ST
freprg =) T gef¥ia Ft €
(A) T %1 SEdA
(B) Tehrg =l s7egaeen
() T F T
(D) U = FeAHH
Ife 3 frm ¥ p-ure TuE B
(A) FAH TE THFR &M
(B) I I TUM BN
(C) 3% a9 ¥aH &N
(D) P, V, Tash ar gl
P.T.O.




43.

44.

45,

The partition function for a monoatomic ideal
gasis:

@) =%(2mnkn3
(B) =:—3(2'rrka)2

' 3
© 2= Cmkn/?

3 3
D) Z=~hv (2wmkT) A

In case of water at 0° C the latent heat of fusion
is 3.35x10% J/kg, the volume of ice is
1.0907 ce/gm and volume of water is 1.000313
cc/gm. Find the change in m.p. of ice for I atm
increase in pressure.

(A) 7.38x10" %k ®B) 7.38x107%k
(C) 7.38k (D) No change
Relation between entropy (8) and

thermodynamic probability (W) is :

(A) W=Klog$§ B) S=2KlogW

(C) K=Wlog8§ D) S=KlogW

26-Physics
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43.

44.

& YENF Ay T8 & foe gfaat wem &1 [
g g

(A) = %(Zwka)g

(B) Z=~;T](2'rrka)2

37
©) Z=-}—l‘%(2¢rka)/2

3

-3
Dy Z =hv(2*rrka) A

9t & fad 0° C WX gEId ®1 W S
3.35 x 10% S@/fFa1 8, Sth &7 TG 1.0907 ce/gm
U &1 $THaF 1.000313 co/gm &1 9% o Tl
¥ yfadd g Sy safs @ 3 9iadd 1 99 &
g

(A) 7.38x107%k (B) 7.38x107 %k

(C) 17.38k (D) HIE FR T

T (S) Th FEFIEE Wifgwdr (W) 3 1 dey
%

A) W=Klog8 (B) S=2KlogW

(Cy K=Wlog8 D) S=KlogW



46.

47.

48.

49.

Total number of vibrational modes in a crystal
of N atoms ranging from 0 to Debye frequency
-

A N (B) 2N

© o D) 3N

Wave function of a particle having half spin

1
( 2 will be :

(A) Symmetric

(B) Anti-Symmetric

(C) Both (D) None

Values of scale factors in ¢ylindrical co-ordinators
are:

(4) hy=hy=hy=1

®) hy=p,hy=1,hy=1

Fourth component in Minkowski space is :

(A) +ct B) -—ct

(C) et (D) —ict

26-Physics
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46.

47.

48,

49.

N Tesi % U fortes o 3 fear smgfa & A
wE B For v fauedl = gen €

A) N (B) 2N

© o (D) 3N

ﬁzﬁwmw(s%)%fﬁmmwm
B ?

4) ¥t (B) srawiba

(C) S uFd (D) FE A&

FerpR Few o H Thel U % TF B § -

B) h,=1,hy=1,hy=p

Ry a7ehTe H e 92 § -

(A) +ct B -—ct

ict D) —ict

(©

P.T.O.




50. The Relativistic energy momentum relationis: | 50. AT S A Hay &

(A) E =pc (B) E= ch ‘ (A) E= pc (B) E-= mc2
(C) E=my? (D) E2=pZ%Z+mZ? (©) E=my? (D) E2=p2?+m2ct
51. If E:ze is true then SE would be : 51. 3fg §=3xz & ;1_3’ %1 T 81
- - - -
A A ®B) Vv A) A B) V
© B (D) zero (C B Dy 3
52. The correct relation for electric field E scalar | 52. Tagq & E 1 3Afewr favm ¢ aun ofew fawa Z *®
potential ¢ and vector potential X is: T T e $H R
- - J Z > o 3 X o o JdA P 0 X
(d) E=-vé-22 (B E:Vd,__at_ (A) E=—V¢——é€- (B) E=V¢—a—t
- - N 5 5 I’ pd >, .0 X > 2 aZ
(©) =—v¢+%‘—:‘- D) E:VM%? (€) E=-V+is D) E=V -+
53. Generating function of H (x) is : 53. H, (x) %1 3338 He g
(4) exp{2+(t-x2 B) exp{xZ—(t+x)2 A) expi{x?+@t-23 B) expi®-t+0%
(€) expix®+t+x% (D) expil—(t-272 © exp{+(t+x3 (D) expix®-(t—-23

26-Physics 14



54.

55.

56.

57.

In the breakdown region, a Zener diode behaves
asa:

(A) Constant Current Source
(B) Constant Voltage Source
(C) Constant resistance

(D) None

An amplifier with voltage gain 500 produces 11%
distortion. What should be the feedback ratio
(B) of the network connected so that the distortion
reduces to 1% ?

4 0.01 B) o0.02

©€) 004 ®) 1

A Hartley oscillator has L;=250 mH,
L,=25 mH, M=5 mH and C=0.01 nF. What
will be the frequency of the oscillgtor ?

(A) 94.28H:z 100 Hz

(B)

(C) 47.14Hz

(D) =zero

Which of the following is not essential element
of de power supply ?

(A) Filter

(B) Rectifier

(C) Voltage Regulator
(D) Voltage amplifier

26-Physics
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54.

55.

56.

517.

oieh A T U S SIS 39 Wb STEER Hid ¢ ;

(A) T a Ea

B) Taa dieea €@

©) T ufey

(D) T I FE A

Teh 500 deedl dfsy ae yad® 11% fasqw sa=
Fa €1 yay® & Y fee [EHEE U (B) #
A ST T ey Wi faeaen e 1% ®
T

A) o0.01 (B) 0.02

0.04

©) o 1

TF TEH fers § L) =250 mH, L,=25 mH Ja
M =5 mH 3R C=0.01 nF e a1gfd ferat it 2

(A) 9428 Hz (B) 100 Hz

(C) 47.14Hz Oy =

T Y F1F W1 aga o dieea i yems &
srfrard & €2

(a) et

(B) feewd

(C) dreea FrEseh
(D) Had®

P.T.O.




58.

59.

60.

61.

62.

The energy of a one dimensional harmonic
oscillator in the ground state is :

@) o (B)

l fi
2

© Fho ® o

Energy of a particle in a one dimensional box is :
&)
®)
(©)
D)

Directly proportional to n?
Inversely proportional to n?
Directly proportional to n

Inversely proportional to n
Wave functions ¢ _(x) and ¢ (x) are orthogonal
if :

A [bm @, (x)dx=0

B) [l (), (0)dx=1
©) [, @dx=0

D) [ (), ()dx=1

For a spinning electron, the spin magnetic
moment will be :

. — [ N
A)  Me= S8 ® Ms=S%
m
- - -
(C) Ms=_%8 D) Ms=-"-3
2m 2m

Energy states of a particle bounded in 1-D infinite
potential well are :

(A)
(C)

Degenerate {B)

D)

Non-degenerate

Both None

26-Physics
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58.

59,

60.

61.

62,

T Tt 3T Sierk i 7@ STl § e & AW
g

@a o (B) %hm
€  Gho ()
- Tt o A w0 A e
(A) n?% TEEI
(B) n2% STSHARUTE!
(C)  n % FEFUR
(D) n % SYHATIE!
T T Wy (2) T i, () iR & ARG ¢
A) [ ®) 0, (x)dx=0
B) [t @, (x)dz=1
©  [Un@), @) dx=0
D) Y@, x)dx=1
TSI HIS T T TN GhIa S B
(&) l\zs-— —€s (B) 1\25: i:
m m
- _e; - _ i_)
C) Ms= o D) Ms= o s

T forfta ara fave 59 § 95 T 0 % ol wR

¥
(A) IR

EEl

(B) 3M-3OY=

(C) (D) HE o =l



63.

64.

65,

66.

67.

Yellow D-lines of sodium spectrum corresponds
to which of these series ?

(A) Sharp Fundamental

(B)

(C) Principal Diffuse

@)

Which of the following relations is wrong ?

A A

(A) [x,px]=ih

A A

(B) [y.py}=iﬁ

AA

© [z,pz]=iﬁ

AN

(D) [x,pz]=in

The energy level splitting (AE) due to spin-orbit
coupling in nuclear Shell model is :

(A) AEx(21+1) B) AEx(21+1)2

AEx (254 1)

©) (D) AEx(+s)?

The main process of energy production in the
stargis:

(A) Nuclear Fission

(B) Nuclear Fusion

(C) Nuclear transformation
(D) Nuclear activation

Which of the following is not a “magic number” ?

A) 126 (B) 28

C) 24 (D) 20
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63.

64,

65.

66.

67.

Hifeam Faga # dielt DY@ foFa 919 @ FHafua
??

(A) e (B) W&
() W@ (D) fauf@
frefafEa ¥ ¥ s W aEm €2

AA

(B) [y,py}=iﬁ

AA

(A) [x ,px]=ih

A A

(8) [z ,pz]=iﬁ

N A

) [x,pz]=ih

Tsh-Hal1g A & FRO AR I TS F FN
faure (AE) =1 7 39 wehR foan < @2

(A) AEx(21+1) (B) AEx(21+1)?

(C) AE«x(28+1) D) AE«x(+s)2

IR H o1t e 1 YA E ¢

4) fiepa faEe

(B) iVehIa HergA

(C) iyt afad

(D) TR A

fra 1 @ ¥ o veat ' 3w gen’ TSR ?

(A) 126 (B) 28

(C) 24 D) 20

P.T.O.




68.

69.

70.

The number of atoms per unit cell for a FCC
lattice are :

a) 1 B 2

(© 3 D) 4

If Einstein frequency is 3 x 1013 Hz, what will be
the value of Einstein temperature ?

(A) 1439K (B) 860K

(C) 2878K Dy 100K

Velocity of electron moving in a one dimensional
crystal lattice is represented by :

1dE dE
@ Ty B V=
2 dE _1de
© v @ VT

-o0o-
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638.

69.

70.

FCC e % Tah ot shiTeTent H TTAO[sT &t e
i

@a 1 B 2

©) 3 D) 4

e AR s1gfa &1 UM 3 x 1013 Hz € M 3R
a9 e & ?

(A) 1439K (B) 860K

(C) 2878K D) 100K

s fuiia fheed s § ToiegE & 91 @1 Frefm
WW%:

14dE dE
@A) V=Erar (B) V*hd—k
,_p28E - 1dE
(C) v="h dk (D) v hz dk
-00o0-
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